ooooon 19980 000000000

198 00o0o0o0o0oooob

 YEREREEN
221 (%1 a b
00000 u= gv= 0000 wiv+uv, OO0D0D0A = 02%X20
U V2 c
ooooao

1 0
(1) ooooo 61=<0>,62=< ! > 0000000000 Adey, Aeo 0000 000O0OODOOODO

00000 a,b,c,dDDD0OODO

1
0000000 a,b,c,d00DOO0OO

3) Ao (1), (2)ooOooU0ooO0oUooo 0000000 20000000 w,v0000 Au, Av
0000 00000O0oooo

1 1
(2) DDDDDf1=< ),f2=< 1>DDDDDDDDDDAfl,AfZDDDDODDDDDD

Q ryO00O0Oo00O0 Poootoooooo (x(@), y@)) O
xz(t) = f(t)cost, y(t)= f(t)sint

00o00000o00o0oooooo fOoooooo /) D0D00000t=ae00 ¢t=b0000 PO
000000 LOoDoo

(D L=Lb/{f(t)}2+{f’(t)}2dtDDDDDDDDDDD

(2) Lgfab{\f(t)\+\f’(t)\}dtDDDDDDDDDDD
B3) fW=e a=1,b=40000() 00000000

5 _ T
L=+, 22

cooooooooogd

[c] oo Co D, 0000000000
C: 000 y=2xa?
D,: 000 (—1,e)0 20 A(—=2,00000 O0O0O0O0O
(1) DoD z>000000000000000 D,0COODO00DO0O0O0DO ¢0D0O00DOODO

(2) oPoolooo COOO0OOOOOOZLAPOOOOOOODOODOD POOODOODOOOOOOOO
000 sinZAPOOOOOOODO

gooooo
1

2o = 2(cos@ + isin ) <0<9<%>, z1 = I_T‘/gizo, 3=~

ooooooooo Py, P, P,000ODO
(1) moooDoOooOoO

(2) zpOODOOOOODO
3) 0o O,Py,P,P,040000000000000 200000000

©OUoUD 00000000 O makoto



199800 0000000o

ooooo

0000

00 {a,) DOODOODO

611:1,

000000
(D
(2

2]
(D

(2)

3]
1

(2)

0000 zOoooooooo AR LkRL6)0000 AD z+cos

oooood

(1) DDOO0O0 200000000A000OO0ODOOO0O0O0OOOOOO
(2) 0DDOD 300000000ADO0D0 OO0DOODOOOOOOOO
(3) 0DDOOD 4000000000000 ADOO OODOOODOODOOOO

Ap+1 = 2a, +n—1

ggo

oo aq0000d

gooo

(n=1,2,3, )

00 {a,} 000000 nO0OO0O0 S, 00000

f(x)=—ax(x—2b) 0000000 ¢>0,6>00000
00 y=f(x) 000 y=ax?00000000000 SO eO bOOOODOO

00 y=f(x) 000 PO0OO 3r+2y=60000000000 SO000000000

f(r)=x3+3ax?+3(@*— 120000000 ¢000000O0O
f(x)oooooooo

x>0000000 f(xr)>20000000 ¢00000000

0A0D0D0O0DOODODOOODOOOOOOODOOOODOOONDODOOO0OONO0DOO0DAODD

(=D | iy k=D o

3 3

Ve

o

SOOOO
0 =
B R
B =R
(4 Qe u

S OOOO
0 EX
B EX
B =
a =

(CJoo
(IDoooooo
(IDoooo
(BJooooooooo

CAJoO
UJoooog
(IDoooo
(IJoo

|D[]D[]D[]D[]I

©OoooDooooo0oooo O makoto



od

19980 000000000

$0000

a

(D
(2)
(3)
(1
(2)
(3)
(1)
(2)
(1)
(2)
(3)

ab+cd=0
=0 +d
0oooo

0ooooo

ooooo

0oooo

az?

P(1, 1), sinZAPO = %
Z1ZCOS<9—%>+isin<0—%>
Ry = %{COS(E —0) +isin(z —6)}

Zo:§+@i

r=—a—10000000 —(a—2)(a+1)2
r=—a+10000000 —(a+2)a—1)>
<

O©ODoo0D 00000000 O makoto



